flexiguide

Product Specification

Part Number: FK19G-K-M

Contents

4 pcs: M4x16 Socket Cap Head Screw A2 Stainless DIN 912

4 pcs: M4x12 Socket Cap Head Screw A2 Stainless DIN 912

4 pcs: M4 Hex Nut A2 Stainless DIN 934

4 pcs: M4 Plain Washer A2 Stainless DIN 934

4 pcs: M4 Crinkle Washer A2 Stainless BS4463

1 pcs: Standard O-Ring Silicone for 19K (PBR180)

1 pcs: Double Height O-Ring Silicone for 19G (CBR180) and 19K (PBR180)

Flexiguide Limited: Unit 9 Rodgers Industrial Estate, Yalberton Road, Paignton, TQ4 7QG, United Kingdom
T:+44 1803 527011 F: +44 1803 553527 E: info@flexiguide.com
Company Reg. Number: 04482386 VAT Number: 803819041



